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Is regularish X36643_en

A list containing wordlists, for example:
[[//a//]’ [llone//’ //tWO//, //more//], [//eO//’ //ai//]]

is regularish when all the words in each sublist have the length of this sublist.

Design a function es_requlin(llpals) which, given a list of wordlists /lpals, returns True when

llpals is regularish.

Sample session

>>> 1p = [["a"], ["uno", "dos", "mas"], ["eo", "ai"]]
>>> es_regulin (1lp)

True

>>> lpals=[[]]

>>> es_regulin(lpals)

True

>>> L:[["a"]’ ["unoV" "dOS"’ "tresll]’ ["eoll, "ai"}]
>>> es_regulin (L)

False
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